
Dividing Money (G)

Calculate each quotient.

1. 56 ) £1492.40 2. 83 ) £1909.00 3. 48 ) £4250.40

4. 32 ) £940.80 5. 42 ) £3924.90 6. 43 ) £3760.35

7. 10 ) £810.50 8. 22 ) £2173.60 9. 79 ) £4392.40

10. If 50 identical video games cost £3632.50, how much did each video game

cost?
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Dividing Money (G) Answers

Calculate each quotient.

1. 56 ) £1492.40
£26.65

−£1120.00

£372.40
−£336.00

£36.40
−£33.60

£2.80
−£2.80

£0.00

2. 83 ) £1909.00
£23.00

−£1660.00

£249.00
−£249.00

£0.00

3. 48 ) £4250.40
£88.55

−£3840.00

£410.40
−£384.00

£26.40
−£24.00

£2.40
−£2.40

£0.00

4. 32 ) £940.80
£29.40

−£640.00

£300.80
−£288.00

£12.80
−£12.80

£0.00

5. 42 ) £3924.90
£93.45

−£3780.00

£144.90
−£126.00

£18.90
−£16.80

£2.10
−£2.10

£0.00

6. 43 ) £3760.35
£87.45

−£3440.00

£320.35
−£301.00

£19.35
−£17.20

£2.15
−£2.15

£0.00

7. 10 ) £810.50
£81.05

−£800.00

£10.50
−£10.00

£0.50
−£0.50

£0.00

8. 22 ) £2173.60
£98.80

−£1980.00

£193.60
−£176.00

£17.60
−£17.60

£0.00

9. 79 ) £4392.40
£55.60

−£3950.00

£442.40
−£395.00

£47.40
−£47.40

£0.00

10. If 50 identical video games cost £3632.50, how much did each video game

cost? £72.65
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